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CMS, 13 TeV, AKS jets, central dijet region, 326 < pj;t < 408 GeV

180

160

—+— Data

—— Pythia 8 [MODE=DIJET]
—— Pythia 8 (vincia) [MODE=D

=
140 [
- —— Sherpa 2 (cluster) [MODE=I
120 - Sherpa 2 (lund) [MODE=DI
100 — —— Herwig AO [MODE=DHET
5o |- — — = Herwig DS [MODE=DIJET]
60 |~ —
40 |- —
20 b =
OLLA\LX\L}‘L}_{L‘XJL ‘LXJLLA;LX‘LJL‘JLLX‘LJE
i\ [ ‘ T ‘ T ‘ T ‘ T ‘ T T ‘ T ‘ I 1 ‘ T ‘ I \E
1.4 E =
13 = T T =
1.2 E- ; —=
1.1 —=
1 -
0.9 —
0.8 —
0.7 =
gg [ ‘ [ ‘ [ ‘ [ ‘ [ ‘ [ ‘ [ ‘ [ ‘ [ ‘ [ \é
0 01 02 03 04 05 o6 O07 o8 09 1



